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A. Define : [4 x 1 = 4 M]

1. Vaccine

2. Embassy

3. Tax

4. Discover

B. Answer the following questions. [5 x 3 = 15 M]

1. How is Rabindra Setu unique ?

2. What do you know about the Queen's Necklace ?

3. What do you understand by the term 'communication' ?

4. How was the first sledge made ?

5. How was fire useful to the early humans ?

C. Fill in the blanks from the options given in the box. [5 x 1 = 5 M]

capital     Mobile    Birla    mayor     landmark

1. The head of a Municipal Corporation is called ______.

2. _______ have the advantage of being handy.

3. Gateway of India is the most famous ______ of Mumbai.

4. _______ Planetarium is in Kolkata.

5. The British government shifted the ______ from Calcutta (Kolkata) to Delhi in 1911.

D. Cross the odd one out. [4 x 1 = 4 M]

1. Principal, Teacher, Librarian, Bank Manager

2. Letter, Stamp, Doctor, Postman

3. Robber, Jail, Policeman, Traffic

4. Doctor, Nurse, Dispensary, Traffic Policeman
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E. Write 'T' for true and 'F' for false statements.  [5 x 1 = 5 M]

1. A Municipal Committee makes arrangement for adult education.

2. Haryana is in the east of Delhi.

3. Kolkata was earlier known as Calcutta.

4. Most people in Chennai speak Telugu.

5. National Library of Kolkata is the biggest library of India.

F. Tick (√√√√√) the correct options. [7 x 1 = 7 M]

1. Fire was discovered by rubbing

a) wood b) stones

c) iron d) bones

2. Kolkata is the capital of

a) Uttar Pradesh b) Gujarat

c) West Bengal d) Bihar

3. St. Thomas church is situated in

a) Bengaluru b) Chennai

c) Hyderabad d) Pune

4. Bullocks were used for

a) carrying loads b) ploughing farm

c) pulling carts d) all of these

5. The head of a Municipal Committee is called

a) Chairman b) Pradhan

c) Mayor d) None of these

6. Which of the following is not a part of the mass communication ?

a) Radio b) Television

c) Mobile phones d) None of these
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7. Family members help each other at

a) school b) home

c) playground d) examination hall

G.I. Match the following. [5 x 1 = 5 M]

A B

1. Speed post i)  Teachers

2. Thief ii)  Dispensary

3. Traffic iii)  Policeman

4. Good manners iv)  Postman

5. Small hospital v)  Traffic policeman

II. Match the following. [5 x 1 = 5 M]

A B

1. Sweets i)  Rabindra Setu

2. Airport ii)  Rasgulla

3. Bridge iii)  Metro

4. Railway station iv)  Netaji Subhash Chandra Bose

5. Transport v)  Howrah

H H H H H
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